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( Honours Elective )
Paper': COM-HE-6016
( Fundamentals of Investment )
Full Marks : 80

Time : Three hours
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- The figures in the margin indicate
' Jull marks for the questions.

Answer either in English or in Assamese.

1. Answer the following as directed :

1x10=10
I ©oie ATy Tes w4 3
(@) Write the full form of CARE.
CARE F 7 Fsi51 forall |

Contd.




Which of the follbwing is an example of

‘GR @ @G Oiffee S @S
SioER (@ O TS GOETE F?

(b) : 7
financial derivative ? () 1st January, 2016
‘ i) 1st April, 2017
wee MA@l [Rem  TaiRrebed (u} R
et (i) 1lst January, 2018
| 1M1= (iv) 1lst April, 2019
(i) Share (SiR*) (Choose the correct altemative)
: we [AeEe! A5 Tlerss
(i) Debenture (2{g) ' _ (e g LJ &
(e) Who is the regulatory authority of
(iii) Forward contract (Sa€l &) Indian securities market ?
(iv) GDR (f@-—{%@ﬁ) : | CIFe R 9K JE€d ﬁ-ﬂgqﬁ 5@% (SADRY
(Choose the correct alternative) (f) NAV is a fund per share market value.
(&7 el A5 Sfarean) NAV Si2¥ g9 367 of <ot Afer|
() Who is the propounder of dividend (The statement is True/False)
capitalisation model ? ( Gl O/ 98%)
RN ETHAITT O CYRE (i ? (g) “Securities market is a market for
' ' equity, debts and derivatives.”
(i) iMyronJsiGordon (S (&, 16T) “gifoef® IET Ta TG, 49 W T
(i) David Ricardo ((sfew fmiref) s TG |
A (The statement is True/False)
(m}- Adam Smith (Simis <) | (Sf&th @%/ Te%)
(iv) John Stuart Mill (& AT ) (h) Bond is a risk-free security. '
(Choose the correct alternative) 7¢ @Ry e spraRen afoefe |
(o7 Reaco! <o Bfere) (The statement is True/False)
(d) On which date SEBI introduced (OfeTh] &%/ Se%)
compulsory trading of shares of listed
companies in ‘DEMAT’ form ?
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() SBI mutual fund is the first public
sector mutual fund in India. ®

G RER TSl ARz ©Rwd ddw
el 9] ToTzo R S| ‘

(The statement is True/False)

(Cfehl wa/e=a)

() Investment in equity is safer than
bank fixed deposit.

e REEe Qe it ewew @@
ftom |

(The statement is True/ False)

(Cfecsr v/ oem)

Answer questions of the following in about

S0 words each : 2x5=10

41 8

(@) Give the meaning of €quity share

320! S¥T o ot

(b) State any two risks

derivatives.

A 12 R R S5 7 e
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(d) "Write two functions of SEBI.
(oIS 70 PREEET |

(e) Explain any two assumptions of
technical analysis.

i Resmem 767 gi=ell i 51|

Answer any four questions of the following
in about 150 words each : 5x4=20

woTd [P BIfSb) e eiteieiE 2 S¢o Bl WiF
*7q fvodw Ueq &) ¢

(@) Explain the structure of Indian
securities market.

oIS efoefs Imiea s i = |
(b) Write a note on price earning ratio.
P.E. S#iies @oqe «fo (Gl Fi |

(c) Describe the factors affecting the
choice of mutual fund.

AT ST |

(d) What do you mean by fundamental
analysis ? What are its objectives ?

Gt Reie e & 992 R SoaiEE
i |
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(e) Write any five functions of stoak

exchange.
eifosfs RiFem s Rl Aeslol R
el |

() State any five features of bond.
A% Rl Aot @R S 4 |

4. Answer any four questions of the following
in about 600 words each : 10x4=40

eq [l BIfEh eXR SteiRE &ld woo B
*7q fowse Ted I 2

(@) Explain briefly about different types of
investment stating their advantages
and disadvantages.

AR SIS SPIREPTR T o ffon daRE

(b) Do you think that credit rating is an
important service for the 'investor ?

- Justify your answer.
RGeS TN WA (@ s @B 9B

graeE Rl 3 o s e o
Ted TNITS IS s |
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(d)

(@

What do you mean by mutual fund ?
Discuss the different types of mutual
fund. 2+8=10

Srpem Afe e & @i [on oIS
@i:ﬂﬁ\‘)lﬂ.i ﬂi@ﬂsjﬁ GG 4 |

Discuss the role played by SEBI in the
protection of interest of the investors
in Indian securities market.

wiel dfvsfes Tuiee RIS FE=E
i< J@fre SR SEBI @ ol 1 iR
GG P4 |

What are the basic features of
financial derivatives ? Also state briefly
about the major participants in
financial derivative market.  5+5=10

e Ratrebes 1@ ERYEE & 2 [er
Riaehe IoRE P SRHATIPE TS
A DT It <41 |

What is efficient market hypothesis ?
Discuss about the different forms of
efficient market hypothesis.

R qE ae B SRSl 9EN g
fZfen AFIFTRRS R FED 4 |
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(9) What do you mean by bond ? Mr. X
purchased a 10% coupon rate bond.
The bond have a face value of
Rs.10,000 and maturity of 4 years. If |
the current market interest rate is 8%,
find the value of the bond using
present value method. y

If the current market price of the bond
is Rs.9,000; state whether X should
sell it or hold it till its maturity, along
with the reason.

(Present value of Re.1 at 8% discount
rate is as follows :

1 year — 0.926, 2 years — 0.857,

3 years — 0.794, 4 years — 017.35)

RN X @ 10% 397 299 9% @ 91| <3
wa%ﬁvwlo,oooWWW4m|
A TS BT 7T 21 8%, TR o7y ~1f
TR T A8 T [effae v |

T 199 vfere I@ T=m 9,000 5l 2, X @
9 [EF S0 The =m gme s

F4ME! The 29|
(8% 3T 2 1 51 TG e wero
B3

19 =9 — 0.926, 27 39 — 0.857,
3T I — 0.794, 49 I — 0.735)
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